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Gas welding plant process used Fire Extinguisher?
Csev Qeudigm-ar Curg ahUHL S MaTES eThS CUMS SHulEnewTLILITeT
LweTL Q& Dg ?

(A) CO: Extinguisher
CO: Sweremiimer

(B) Foam Extinguisher
SGUTTD SwienawTiiLime

(C/ Dry powder Extinguisher
Leny UeyLit Swenewriinmer

(D) Cooling.water

FaeOlhl GUITL_LIT

(E) Answer not known
ailenL Gaflweildwema

Temperature of Oxy-LPG flame is
pdell-ered.19.85. S @b er Qeuiuflene

(A) 2400°C to 2700°C

2400° Qeodwev apsd 2700° Agddlwev (pig

(B) 1800°C to 2200°C
1800° Qedvrflwen apsad 2200° Aeovdluan @pigw

(C/ 2700°C to 2800°C
2700° Qeodlwav apsd 2800° Qeadflwen g

(D) 1825°C to 1875°C .
1825° Qsadlwev psd 1875° Gadfluey @pigw

(E) Answer not known
cflenL Qaflwefcenc
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3. In gas welding, to weld 8.2 mm thick plate number
nozzle is used.

Caav Geudymdld 8.2 mm sguoear GQarerr 19Ceri e Qeud® GCleww

LwenLhieug) ereiT QaTeaTL BIElD <p,@LD.
&) 10 o 25

€ 7 D) 5

(E) Answer not known
sllent Qgflweldrena

4.  What is the name of machine which convert AC in to DC current?
8. Nersmyseng 1.8, Wereryons wrhmb eabdrsden Qi eremer?

(A) Motor generator set
Com_ L QgerGrlLir Qe

(]Ef Rectiﬁer' set

Qréguwir Qe
(C) Engine generator set
eremgplel GamarGriLi Qe

(D) Inverter set
@emeni LT Qe

(E) Answer not known
e Ggfiweildanc
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Which one of the following colour is Nitrogen cylinder?

@pLymen o (Havetuflen Elmib eremar ?

(A) Yellow
LD{@hFET

(C) Black
&(mLiy

(E) Answer not known.
alenL Gzflueildena

(B)/Grey

MU

(D) Maron
Smed

Which one of the following, correct temperature for Oxy-Hydrogen

gas flame?

Sps@rcudmier ergy babl-ananL e seuremauier Qeuliulena ?

(A) 2100° C—-2200°C
(C) 2700°C- 2850°C

(E) Answer not known
e Qzflweildvena

& 2400° C — 2700°C

(D) 2600° C-2900°C

Which safety instrument used for chipping welding jobs slag’s?
Qeucvgiy Qeuwniuc L vefluQurmellds seGaméen QsgsE0LGUNg "~ et
ueE LIMGSMLIL sTgamd uwemu@SsLILIHEDSE: 2

(A) Welding helmet screen
 Geuddigms Geme@ol evdfler
(C) Hand gloves

M EW|EDDSET

(E) Answer not known -
e Qzflweildame

(B) Welding hand screen
. Qeauedigns Gaman avdifer

(DyChipping goggles

Sl srderen
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8. STEP-DOWN transformer which reduces the main supply voltage?
GGt Glemes 1 yresTevLITILT @Garn&E@EHD Gwllen shmer GoundGLsh g

(A) 110 — 200 volts (B( 220 — 440 volts

110 — 220 Gaumévi_sv 220 — 440 Geumén_eiv
(C) 100 — 120 volts (D) 80 — 90 volts

100 — 120 Geunédc_av 80 — 90 Geumdvr’_av

(E) Answer not known
sflenL AgMweildend

9. Used to store oxygen-gas safely and -in large quantity under a
maximum pressure of
SFeUl s Ssssden  Ep asellger eumy urgemiyLer  Callds
eussELIL{RL CamdrereTa

(A) 120 kg/lem? : _(B(150 kg/em?
(C) 100 kg/cm? (D) 80 kg/cm?

(E) Answer not known
sflenL QgMwafdend

10. What is the name of distortion occurs in the weld direction?
Qeudvig s Heansuled puBd Bspey 2 (horHnsdnHE QUi ererer ?

~{A)  Angular Distortion ~ (B) Bending Distortion
<G/ Caream 2 (HTHDOLD Quasmq.rsjleummpg, &@mrr,r_r),r_r)m
(C/ Longitudinal Distortion (D) Tranverse Distortion
Il g Ul eTeb 2 (HLOMHDLD g TIemeveIEn @ (Fmhmb

(E) Answer not known
allenL Gsflweificvanaw
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11.

12.

Why are used welding helmet screen?
Qeucrigms QapaQwl ey grér LweTLIRSSLILIRE DG ?

(A) Protect the hands from electrical current
aseen WenenysSledmhg LTgarss

(B) Should be made of leather and worm
Garelleme swurissiiu gmiusrd Sflbaed@Hin

(C/ Used as hand screen so we can use both hands in other work

wefdorawCurd uweauhsd Qaran®h ossmer Geum uamﬂa;@as@
LwetuRSS Casmeararemd

(D) Protect the eyes
SERTHENET LITGISNES uu.nmu@aﬂ,r_r)g,j

(E) Answer not known
eflen Ggflweiidena

The calcium carbide is a chemical compound consisting of weight 1.e.
in 100 g. of

100 &prp sreflwbd smieu® Lremwer seaeuulld SDSETL THS GO
erenL_uléd CaromiseT @maEWb ?

(A) Calcium carbide — 75-g Calcium 25 g
sraflund sriaul - 75 & sroflubd 25 4§

(B) Calcium carbide — 66 g Calcium 33 g
© sroflub srireli® - 66 & srddflus 33 &

(({ Calcium carbide — 62.5 g Calcium 37.5 g
srodwub sriu@ - 62.5 8§ srdfuw 37.5 &

(D) Calcium carbide — 50 g Calcium 50 g
srofubd smeau® - 50 § srodwnd 50 4

(E) Answer not known
sflenL Qgflweidane
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13. Gas welding plant do not uses
Gas welding plant -& LueTuRSs snLTs@a
(A) Hose pipes and tubes
Cammeu euls wHmb 1gu|liev
(B) Gloves and apron
eayep whHnibd Coandl
(C)_ Cap with sléeves
Gals whmitb Hedeu
(D/ Lubricants (Oil or grease)
" @efpLl g &eT (eTar@eamtis Dievag &Hifen)

(E) Answer not known
Men GasMwaiidane

14. Why used carbon steel wire brush?’

Carbon steel euwir Qyels Lwier ereme?

(A) Good quality
B SILOTEGTS)

(B{' Cleaning the work surface from rust oxide and other dirt prior
to welding
Qeucdigrs QewiughE @petuns uerll GQummetien UTlMU FIMH, wsn&0H
wHmb 2pé@GsefladEhg sosb Qe

(C) Easy to handle
MGWIM@H6UF eraflg)

(D) Chipping work done
Qegs@s0 GCaimasE uu_lsmu@acﬁmgj

(E) Answer not known
dilenL. Ggsflueiidana
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15. Oxy-acetylene gas flame temperature is
2,58 8l galler SLdpbier Qeutiuflena ereusueray?

(A)  1100°C to 1200°C (Bﬂnomc to 3300°C
(C) 300°C to 1500°C (D) 1800°C to 2800°C

(E) Answer not known
ellen Qgiflwuecilcvanc

16. Carbon-di-oxide cylinder colour 1s
STTLET L B Emav(h 2 (mener elbs Hinsdld BméEh ?

(A) Black : (BY Black (with white neck)
S(HLILY &(WpsHe QeucTenar 2 6Tar S(HLiL
(C) Blue (Dy Grey
) Heotd FMLDLIED

(E) -Answer not known
sllenL Ggilweidens

17. In Butt welding, joining two pieces electrode should be placed in
degree. .

Ul OeidyrflaiGurg @iarh gar@smer  @eamanss aTsl Crr@ b
Garamgdledr ancusaGauaT@ID ?

&) 90° (B) 120°

© 110° - (DY"180°

(E) Answer not known
en. Gsflweidens
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18. The weld metal below the miter line is known as
enwt LT Camligh@ &G 2 dter Qe 2 Carsd empsstinHoug

(A) Straight bead (B) Convex bead
Gprmen Lig.ay @ps Lgey

(c/ Concave bead (D) Miter bead
GWwrer ey @WLLIT Uigey

(E) Answer not known
eflen. Qgflweldwene

19. Hand gloves made by ]
s ep (anrewrl dleres) ergemméd swrissuBEng 2

(A) Plastic (BY Leather
Germeivig.d Gameb

(C) Cloth . (D) Rubber
glenl FUILIIT

(E) Answer not known
sllenL Qafluaiicdoeana

20. Overhead welding p'osi'tions with respect to their slope not exceeding
45° and rotation angle

5@ Gwd flaould Geudign QeauybCurg <igar smie) 45° whHmib

FpHé Cameawid WHl&Tod @(mésCeuamhitd.
(A) 60° B) 120°
¥ 90° (D) 45°

‘(E) Answer not known
ellenL @zhweldena
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21.

22.

23.

Which is used to remove drills and sockets from the machine
spindle?

gfeoellm @updy evGargdl@mbs wfld whmb sredsi e QauaiCupn gl
LwetuBHEDg 7

&Y Drift (B) Sleeve
g Ao Heeu

(C) Punch (D) Hammer
Ligh& - Gamworm

(E) Answer not known
eflen Qpflweideana

Which part of the Vernier Bevel protractor contact with the inclined
surface while measuring?

sfleaurenr Gupuriieru erei@ Qeuywlurg Qeurellwir Queud CQAFTCF&LIT
ey unsh sfla) ugdeow Asrhdng 2

(A) Dial (B) Disc
L wed lg.670&
Y Blade (D) Stock
GGer( LS

(E) Answer not known-
eflenL. Asflwefdrencw

Which part is the measuring face fitted to the frame of outside.
micrometer?

slayt eF® @wECITBLLT SE@CTAd QuIBSSLUL L HeTEsbamig APEHLILY
LnggHer CQuwi erebrer ?

(A/ ~ Anvil | ~ (B) Barrel
2}, emedled Guré

(C) Spindle (D) Ratchet stop
@ Ll eTig 6 Crésl_ evml

(E) Answer not known
eflenL Qaflwelcvana
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24. The minimum measurement that can be correctly read with a
Vernier Caliper 1s called
Qeuiraflwir srellui 2 sellumd BieThg SeTddlL (P ULDTET GHODHSUL & 6T
S pdsLiuhelg

(A) Zero reading
BSCyr Fig.r
(B{ Least count
SevL. SeyaL
(C) Main scale reading
Quulier svGaed g
(D) Actual reading minus zero reading
o gaeue figns enwenev Gy Fig.ri

(E) Answer not known
elenL Gg,rﬂ‘uaﬁ]éomm

25. A micrometer has a positive error of 0.02 mm. What is the correct
reading when the micrometer measures 25.41 MM?

0.02 mm urflCeds Qe Garam. ¢m @wsGIMBLL®IS Qararh
Qurmeer SetsGL Qurups 25.41 MM wiatey @ms@wrllear @ger

FRTET/ 2_@TanLDWITET 6T (H) eTemmen ?
A( 25.39 MM (B) 25.37T MM
(C) 25.43 MM : (D) 25.45-MM

(E) Answer not known
- dllen Wsflwelédeana
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26.

27.

28.

The value of each main scale division of Vernier Bevel protractor is
Qeureflur  Gueusdd UdgTLgs_it @eauCQeumm Guuler Cased  AMafer
wHLLTaTg)

(A/ 1° (B) 5'
(C) 1°-55 (D) 5"

(E) Answer not known
silen_ Ggflwaidena

What 1s the main component that removes unwanted material in
grinding machine?

am Serargn Qubdrsde Csmerwupn gsaamer sHOD WSEAWL Famy
& ?

(A) Bench (Bf The grinding wheel
Ques Elenraing i F&&TEIGET

(Cy The motor - (D) The chuck
Cumrcum &

(E) Answer not known
cflenL Qsflwelansy

Name the Chisel used for cutting curved grooves (Oil grooves).
U @Hpeu Cumenn euanaThs (@HeuGaar QFgiss LweTURL Geul Hafludler
Cluwr erébren ?

( Half round nose chisel " (B) Flat chisel
Slen eul L. Qeur_Hafl Ul e Qeul_@Hafl

(C) Cross cut chisel (D) Cape chisel
C @MIEEG Ceul_{Herl - Qasmind Qeul (el

(E) Answer not known
cllenL. Qaflweieranc
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29. In diagonal filing methods the strokes are made at an angle of
ppere LssLTE Brraisd pepuldnr AarPssiu@b eSsflear Gareamd

( 45 degree (B) 60 degree
45 4 & 60 158N
(C) 30 degree (D) 90 degree

30 48 90 15 A

(E) Answer not known
eflent Ggfluefdana

30. The pitch selection for hack sawing in angle iron, brass tubing-
copper, iron pipe etc is

gpidler spurer, Ggsemer @mi, @gby, @by GwTd Geuhen MIGS
CarhlsBEastiumin 19F emey

(A) 1.8 mm . (JI.O mm
1.8 B8 ' 1.0 .15,
(C) 1.4 mm (D) 0.8 mm
1.4 9.18. 0.8 8.8,

(E) Answer not known
' alenL Qgflweldena

31. The pitch selection for hack sawing in soft material such as bronze
brass, soft'steel, cast iron, heavy angle etc

Quer 2 Ganstisermer Geusdmsom, Qer g, eunriy @mby, Gssener
sewren yhfldadr @acusmer NEs CasmbbshEstILEL 19F eTey

(M 1.8 mm . , (B) 1.0 mm_
1.8 .5, 1.0 A..8.
(C) 1.4mm (D) 0.8 mm
1.4 15.15. : - 0.8 BLi8.

(E) Answer not known
v QaNwelcrena

436-Fitter 14



32.

33.

Calculate the Tap Drill size by thumb rule for M10 x 1.25
s apadlerug M10 X 1.25 wernle gewenlen siame sarédl[H

(A) 8.8 mm (B) 8.7 mm
((D/ 8.75 mm (D) 8.65 mm
(E) Answer not known

ailenL Qgflweilcbana

Which type of drilling machine, the spindle head 1s moved towards
or away from the column?

Ths cuemaswrer generlGw @undlrsde sveamgd an’ Bigen grenfledmng
penGanmsd pEmADS 2

(A) Pillar drilling machine
Webeni guenamliGid @uibErn

(B) Gang drilling. machine
Cari gienemuiHitb @uihHrhd

(C( Radial drilling machine
Crgwé giemeruliio @uisdlyd

(D) .Sensitive bench drilling machine .
Qeandlyeu Quens giememullHid GwibSTb

(E) Answer not known
allenL QaRweildena
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34.

35.

What is the material used to manufacture engineering steel rule?
avied apd erhs 2 Carsassmd GElwiuL g ?

(A) Brass (B) Aluminium
Gggener Sigiflefiwb
(O( Stainless steel (D) Plastic
G L Ser@eev 6viedd Qerreivig. &

(E) Answer not known
ellenL. Qgflwelldena

What is a primary advantage of using a short  steel rule in
measurement?

AP euens cuied erellen (WAL HeenLo e ?
(A) It allows for precise measurements over long distance
B farL sirhisaid godlwnrer erai{isemer @wHsHDg
({ It is easy to carry and handle small-scale measurement
APlw  arellooren HaAiBHEEEHE rHSHEF Gadaald  eswmaTa|h
eraflgransg
(C) It can measure large volumes of materials
@g Quilu ereflerer emeiRisamer eTallL. (LD
(D) It has a built-in digital display for accuracy
Blg givalwusdnE e il gl L Heny 2 anLwig

(E) Answer not known
eflenL Qgflweidrens
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36. What length of an engineering steel rule is often used for large scale

37.

measurement?
Quilu eTaiPsEREEGL LweTURSSLLRID eramedaflufn aued apeo-6T BHerid
TSS MG ?

(A) 200 mm (B) 300 mm
200 BSoeN S i 300 WO@eSr i
(© 400mm (DrE00 mm
400 D@ 600 WevelBS Lir

(E) Answer not known
cflenL Qaflwelcrency

If steel rule i1s scratched, what effect does it have on measurement
accuracy?
coiedd apelled Spebaer efi(haTd Sigen Hateilid ererar allevatey FHLIHID?

A) It has no effect
h eflleneTeyld @)cranav

(B) It improve measurement accuracy
Semeli(n Cueranwins @)(méE0n

(Q( It may cause inaccuracies
saupEmer gHubhiSHID

(D) It make the rule more flexible
sflsuguner Grpdlipe; genenowLer @(HEEGWw

(E) Answer not known
ailewL Qaflweidene
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38. Which type of steel rule is commonly used for precise measurement
in Engineering?
Geardalufndd goduwrer aeifs@ré@ CUTgeNs abhg ums 6vled
ghed LweTLRSSUURE DS ?
(A) Flexible steel rules
Qpdlipeurer eueed Hed
(]E{ Standard steel rules
Hlenoowran cvled e
(C) Carpenter rule
S&FFT GLled) HED
(D) Short steel rule
GOSN evled me

(E) Answer not known
cllenL Ggflweldrens

39. If alength measured as 2 metres. What is the length in centimeter?
2 S fershléd arsganan QFemiq 5L a6 o aTeng) ?

(A) 20em | (E{200 cm
20 Qs.i5. 200 Qs.i5.
(C) 2000 cm (D) 0.2 cm

2000 Qa&.18. 0.2 Q&.15.

(E) Answer not known
cllen @gfweldensy
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40.

41.

42,

Convert 10 inches to centimeter
10 sugwsms Qeang S Mé wrhpend

(A) 15.24cm (B) 20 em
15.24 Qas.46. 20 Qs.185.
(C)/ 25.4 cm (D) 30 em

25.4 Qg..8. 30 Qe.d.

" (E) Answer not known

dllen GgMweidena

The type of steel which contain just 0:8% carbon 1is called

0.8% wi_@Hw ariust QEraT{HETeT 6Tea@ GUMS ereprlIL (Rih.
(A/ Eutectoid steel (B) Hypereutectoid steel
WL SL MU 6Tau( @aDUTUGLSLTUR 6Toad
"(C) Hypoeutectoid steel " (D) Low carbon steel
aanCumYEL SLTUER 6T Coom sTTU6T 6o

(E) Answer not known
sllenL Qgfweildwenc

During heat treatment process carbon is dissolved to form solid
solutions, it 1s known as

Qeutinugafigeller Curgy amiuedt senphg S SOIFONS 2 (HEUTEGEUS
arené @Ok LLGE D). ‘ ‘

(A) Ferrite (B) Pearlite
solol LIfrem L Slusireneor_

‘(C/ Austenite (D) Cementite
DLGUL GNGTL AQwerrenLL_

(E) Answer not known
- eflenL_ Qg flwelcrana
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43. What is the temperature to be maintained in sherardising to heat
zinc powder?
QagreLfli  weple sssETs greer CQetiutulss uwgTwissiu@o
Qeutiuflenay ereiren ?

(A) 300°C (B) 305°C
(c/ 370°C (D) 490°C

(E) Answer not known
Men QgMweiicana

44. What is the temperature of enamelling process?
eretmoedii LFs papwllds sl ssuiu@n Qeutiublene eremen ?

of  80°C to 100°C (B) 100°C to 200°C
80°C @psé 100°C 100°C apse 200°C

(C) * 200°C to 300°C . (D) 300°C to 400°C
200°C apsé 300°C 300°C @psd 400°C

(E) Answer not known
allen QgRweldena

45. Which one of the following metal is suitable for cable sheathing?
Wereumeuamaup ey erbg 2 Cenan Calldr 2 endE ahng) ?

(A) Zinc (E{Lead
SIS HTEHD ' g

(C) Nickel (D) Aluminium
Hlésed SQIflefluib

(E) Answer not known
sllen @z flweidena
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46. Which one is suitable metal for anodizing?
2iGarrenL A1 Qaieughg ahm 2 Cansd ag ?

(A( Aluminium (B) Copper
flaflwb AETIIE

(G Nickel (D) Steel
Hl&&ed 6Too(S

(E) Answer not known
allenL Qzflweldene

47. The percentage of chromium in stainless steel
B3I 1Ng5808 el 2 drar_iudl o erer FGrrwsHen Fpeigb

(A) 5% to 10% of chromium
5% qpsd 10% &Crmdlwib

(B) 15% to 20% of chromium -
15% s 20% Grmbluid.

(C) Upto 10% of chromium
10% euery Crmbiwb

(EK 10.5% to 18% of chromium
10.5% @z 18% gCrmblwb

(E) Answer not known
eflen Qgfueilcwene
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48. While normalizing the steel should be cooled

Guled-g senaflanariuHsgeusDE, @ @aflapLiuL Geuaritd.
(Af In room temperature (B) In o1l

sienp Geutiublena srHp eraerolemmy
(Cy By force air (D) In water

syl en Fmig STHD) samenfi

(E) Answer not known
e CAsMweleanen

49. The external.surface of the parts made of mild steel can be hardened

by
@WOH VM- 2 (HeurssIuL L urssder ypluriy wpenm
ppeld Sy arorEsiiuhdng.
(A) Tempering (B) Normalising .
LSULHSSIS® ] senaflepliLHSHSD
(C{ Case hardening (D) Hardening
D& Slg RTLDMESHE &g GOTLD T& & 6D

(E) Answer not known
alen @gMweldency

50. In Nitriding process the NHs gas is introduced at

an BL_an1Ig b Qewdparpuled < bCGomeflwim euUTY
Qeutiuflenauie QegissiiuGEns.

(A¥ 500°C to 550°C (B) 575°C to 600°C
(C) 600°C to 650°C : (D) 650°C to 700°C

(E) Answer not known
sflen_ QgMweldana
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51. Case hardening is a method of producing hard skin on the surface of

52.

LD @TONEHD TG

Gupurile  syadsgeusans

2 (HEUME@GLD (LPEDWIMED.
(A) High carbon steel parts
Wens smiTue eved LMSRISET

(]E{ Low carbon steel parts

GH®D SMTLGHT GUlee) LITEHRISET

(C) Alloy steel parts

sl 2 Cons eles@ UNSHRIGET

(D) Cast iron heavy parts
QUIITLIL @(HDY SRS UTSBIGET

(E) Answer not known
cflenL. Qsfwefdana

is added to speed up the

In pack carburising method
process.

Caumevenws gfMgLBEZIUSDSTE

Sienl_uy sruCGerhn apenpuliey
CetrsaniuGE DG

'(A( Barium carbonate

Cuflww sriuCeri

(C) Barium chloride
Guilwwb GCermeny(H

(E) Answer not known
eflen Qgflweildene
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"~ (B) Sodium chloride

Gemquib Garmeny®

(D) Sodium carbonate
Camguibd sriuGar
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53. Bronze is an alloy of
Qeuamssdar 2 Canss sweane

(A) Copper and lead
STy wHmb Srifwb

(B) Copper and zinc

STBIID WHMID HSSHTHD
(C( Copper and tin

gmfyb wHmb Qeuerafwis
(D) Copper and aluminium

SMIFD. HOID gy dlafluib

(E) Answer not known
allenL. Qsflwefdens

54. Which of the folloWing metal acts as a nuclear radiation inhibitor?
Yereumid orhg 2 Coorsd gmissdli elda sOurams QewuduBdpg ?

(A) Brass (B) Zinc
Qiggear SISBBIEHLD

(C) Bronze . (I‘ Lead
Qeuaselb S

(E) Answer not known
sllenL- Wzflwalicvena
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55. Which of the following statement is true?

56.

ereu(md smhpiseied aTg o ameno ?
(1)  Melting point of copper is 1844°F
smfysder o mEHow 1844°F
(11) Melting point of cast iron is 2282°F
ey @mbider 2 m@Hae 2282°F
(1) Melting point of steel is 2200°F
e e m@Hleoe 2200°F

{A) () only . - {(B) (@) and (iii)-only
(1) wL_ @b (1) whmwb (1ii) w Eb
(C/ (1) and (i1) only (D) (i) and (iii) only

(1) wpgd (11) v Hibd (i1) wpmb (iii) wi @b
(E) Answer not known ’
e Qzflweidena

What is the metal production in Salem steel plant?

. Gaad @bl e g amauie sumflésliufn e Cans g ?

(A) Aluminium (B) Copper
Sigdleflwub SmlyLd

(C) Wrought iron _ (D(Stainless steel
Gaaflmoy (B EETF 6Toa@

(E) Answer not known
edlan Qr_e_r,rﬂ wellérenew
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57. Which metal is resistant to many types of acids?
Lo cueswre Jblerisamer aflis@h o Gansw gl ?

(A) Tin (B) Nickel
Qeuarefiib EET
) Lead (D) Chromium

s &GrmSwub

(E) Answer not known
eflenL GgMlwelwena

_58. What is the name of furnace to obtain cast iron? _
GUITITLILY @@mmu sunflés uumu@gguu@m o epauflen QUL eraan ?

(A/ Cupola furnace (B) Blast furnace
GUGureT 2 ana 2F) 2 G

(C) Electric furnace (D) Pudling furnace
Wlenemy o e GOPUY 2.

(E) Answer not known
aflenL Gaflweldena
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99. Match the steel plant in India with respective states :
@piwurelldr 2 6T T 2 (BEG PMWEDETLD D6

60.

1
© 4 1 9
4

wrblonismaryn Curmsss

(a) Tata iron and steel
LITLIT @(HDL CToo@ <,anen

(b) Bhilai steel plant
G 6Tea( e

(¢) Durgapur steel plant
SINGTLLT 6Toa(d M

(d) Rourkela steel plant

HICEQT 6@ pana

" (e) Salem steel plant

Coad erso@ ane

(@ G @© (@
A 2 5 4

B 4 5

() I b1 B N

D) 1 2
(E) Answer not known
e Gzflweidana

1.

Lo o WD
e

Chhattisgarh
g&Sevai
Odisha

P8
Tamilnadu
AT C)
Bihar

e

. West Bengal

CuhE eurasmerd

Which of the following ore contains 32% of copper?
EpaaL, e sngieflar 32% sgeis gmlimbd SepL &8 ms)?

(1{ Pyrites

enLIEn TG
(C) Calamine
G TG0 & LD 6IT
(E) Answer not known

cllenL. Gaflweilaena

27

(B) Malachite

D TEENFL_

(D) Galena

HEOGTIT

<GP LOBF)GTEIT
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61.

62.

63.

What is the size of pipes normally used in sheet metal?

» CGangs s5H Caumawde apssors LuaTU@RD @prusafle seTey erewer?

r” r7” r”

3 3 1
Ay = —1" B) —-1-
(A) 3 ()8 3
3!’ 1!’ 3!! 3”
2 _1= D) = -1—-
(0{ ) 1 ()8 5

(E) Answer not known
eflenL GQgfluaiicrensy

A piece of material is cut to the exact size and shape to form desired

object 1s called as

Czereuwnen Qummener sflwmen ety LHMID ugeusdHE Ceul L LweTURWL

glawr® Aummer @eauallgh SenpssliuRdng

of Pattern (B). Layout
wrSlfl wpenp/euged L ety
(C) Template (D) Stretch out
wrglfl o @wmeubd UL QTF eyl

(E) Answer not known
denL Ggfueildme

In which type of hacksaw blade teeth only made hardened?
Ths euans Cangam 9Gamg -db © siseepLL  UpsET
sl arorssULUbH Henmert?

(A) All hard blade (I{ Flexible blade
<& apmi® DGer(). Glerdensiyer Ger(H.
(C) Adjustable blade (D) Coarse pitch blade
<{ghenavL_Lar AGeT(R Carirev A& DCer(h

(E) Answer not known
sflen Ggflweildana
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64. The least count of vernier caliper is equal to
Qeutraflui arallufler aSevl. seyemg H@ Fwirars

(A( Value of 1 M.S.D — Value of 1 V.S.D

. 65.

(B)

©

(D)

(E)

1 Gl svGse 1y eflager Ay — 1 Qeutailur vGad 1yeflager LA
Value of 1 V.S.D — Value of 1 M.S.D

1 Qaurrefluir svCaed eflagen wHiy — 1 Quuier cvGae 1yeflager LI
Value of 2 M.S.D - Value of L V.SD |

2 Gwuler avCae wellager wHiy — 1 Qeuieluir duCad yellager AL
Value of 1 M.S.D + Value of 1 V.S.D - _

1 Quufler evGsed ellagen iy + 1 Qaureflwir avBad yelagesm wALi

Answer not known
ellen Wgflweiidvena

Large circles drawn by e
Qemeu(mLd eTHS ehed g Guflu eul L mgeT euenyw LTRSS 2

(A) Scriber | (B) Divider
cogenuIr lg-EDGULIT

(G{ Trammel | (D) Wing compass
g G Gler el &mbLev

(E)

Answer not known
eflenL Qsflueildwane

29 436-Fitter



66. Which metal is not mixed in soft solder?
Soft Solder -é Qeneumd ahbs e Cansd swbBg Q(HEHF ?

(A) Tin (B) Lead
=) APITI
(C) Copper (D{Silver
ST Héveurr

(E) ~ Answer not known
ellen Qgflweilcvancy

67. What is the fine pitch size of hacksaw blade?
< &am NCaTigar Senuem ML BeTa

(A) 0.5 mm (B) 0.6 mm
(C) 0.7mm (]ﬂ 0.8 mm

(E) ~ Answer not known
sllenL Qgflwedcrency

68. What is solder?

FTEOLIT CTETMTED 6TEHE ?

(A) Cleaning agent (B) Lubricant

Sleflaflm erQsgem riflCaem
(C) Melting agent . ({) Filler material
Quedig i erlgem soldlebauit QoL te Muwsed

(E) Answer not known
eflen Ggflweldwena
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69. Which material is used for making mallets?

70.

T1.

W&o ahg Gwitefluanmd Qelwtin@n?

(A) Brass (B) Copper
gsemer Qe

(C/ Hard wood (D) Aluminium
&6 SL_eML Sigy Beflwib

(E) Answer not known |
ellenL Qgflweidena

Bend snip is related to
Que evafliley ergeapier GsmLirenLwig)?

(A) Groove cut (B) Zigzag cut
&emel & & s &1

(C) Straightcut . | .(I{Circular cut .
suenyL &L T Fid@ eI &L

(E) Answer not known
allen Qgfwailcene

Name the tool used to make fluid tight joint in riveting.
Sy sfleveu sH&sL LWETLUGHSSS Faigu Merign smeiluller Cuwi ererer?

(A) Drift (B) Rivet snap
i [T . Mol evarmu
(C{ Fullering tool (D) Dolly
yeveu ik Bed Lmedl

(E) Answer not known -
eflenL Qgflweldane
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72. Which notch is cut at an angle of 45° to the corner of the sheet

metal?

o Corss ssgd apeeuian 45° Caramsdled Geul L &sniqwi &My eTeneu?

(A) Wire notch
GUWIT BITL&
(C) Square notch
. ev@smut BrLg .

(E) Answer not known
cflenL Ggflwellcdene -

(B Slant notch
LT BTL&

(D) Straight notch

Gulg ey B &

73. What is the seam used in sheet metal joint for roofing and

panelling?

2 Canmrad saligmand Oarawh ey wHmbd sSlgeariy Geueaulld

DweTURSSLILHD SIb uens ereme ?

(A) Lap seam
Gou &b

(C) Grooved seam
&meu(® &b

(E) Answer not known
ellenL Ggilwalerena

(B) Double seam -

LLjeT &b

(I{ Double grooved seam
LUe @ &b

74. Which hammer is suitable for riveting?
ey i Geww apg euensd asHwed LwaTLGEng ?

(A) Plastic hammer
Detrevg s sSHw

(C) Cross pein hammer
dAyrev Sen ssHwed

(E) Answer not known
fenL Qsflweficvenay
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() Ball pein hammer
urmed e &SHweb

(D) Straight pein hammer
aul QU 1Sebr &SHhued



75.  Which flux used for soldering steel?

"76.

77.

T ol an e Fmer_flm
vweTURSSULRE DS ?
(A) Paste

GuevL

(C) Zinc chloride
Arig gCarrany(H

Qauyb

(E) Answer not known
eflen Qg flusildens

Qurpgsy  eaps  Qersd  (flux)
(B) Resin
Quéler
(Pf’Ammonium chloride

2bGwraflub GGarraryh

Which gauge is used to check thickness of the thin sheet metal?

Qoevadlw 2 Gansd
vweTuRSSLILGE DS ?

(A) Steel rule
' 6Tsa@ 2lerey Gamed

S&L_ g 651

(C) Caliper ‘

STl LT

(E) Answer not known
ellenL Qgflweldene

Slg LD G EoT

Candlés ey Gagy

(B(étandard wire gauge

suCL e euwir Cagm

(D) Ring gauge-
e Cagy

Which one of the following stakes is used when shaping, seaming

funnels and tapered articles?

suarey wHmw @g Cumemp CLuugmer edigeuls QU@L aemer 2 (haurésaub,
Wk Qetiweb vweatuRbd GLSE ergleum@id?

(A) Hatchet stake
Qg evGL_&

(J Funnel stake
soLaed eGL &

(E) Answer not known
cflenL Qg flweiicrency

33

(B) Half-moon stake

QDTELL epett uGL &

(D) Creasing stake
Afelln evCL&
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78. “Caulking” and “Fullering” are the operations done to make riveted

joints as ‘
feurgrs  grniareeileo  “sraosdln”  wpgd  “ydterfig”  Qewe
Gelwtiuheug @sHsns
(A) Flexible (B) Strong

Hemgedlibler &1 [T
(C) Rust-proof _ (I{Leak-proof _

UG’fUl;—l;l@oooGi_l Gs&?-u@:o@
(E) Answer not known

eflenL Ggflwalidena

79. The melting point of resin flux is
@ersfwrer Qraflafien 2 pgHlana Cgryruwns

(A)  20°C to 30°C | (B) 30°C to 40°C
()  50°C to 70°C " (Df 80°C to 100°C

(E) Answer not known
aflenL. Gzflweldena
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80. Why allowance is required while making various types of hems and

81.

seams?
2 Canss sabhaseflar efeflibyseidr QeucuGoumy eeswren WYL, WHWID
@ nTLIL|EEDET 2 (FeUNEs Sjeeusav QamHULS 6rer?

(A) To make good appearance
poa Carhnsms 2 (Heumss
(B) To prevent damage to the edges
Maflbyser Cogwacums sH&s
(C) To prevent over lapping at the seam
wigSSNe SFsLLwITer Gohuygme seliEs
(I{ Maintain correct size and improve the 'strength
silurer jetey wWHmib euallenwenu fsLL(RES

(E) Answer not known
eflen QgMwelidvena

How to specify the fundamental deviation for a hole according to BIS
system?

BIS wepuuyg, geaufear  oigouemL  iatey  Bpee i
GHUAHEHCHTDH ? _

(A) Small letter followed by a number
APw erpseng Agm(Hb erekr

(B) Capital letter.followed by a number
Quilw erapsens GaTL (B eTekr

(O{ English capital letters
g mfleo Quilu eaupsdlen

(D) English small letters
ggrdle Slu erapsde

(E) Answer not known
cflenL Qzflwelidenc
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82. As per BIS standard how to denote the upper deviation of a ‘hole’?
BIS sy flreruiing, @@ g@enlar Guwé oerey Bpoe adery @Hlés

Couar(pitd ?
(A) EI (B) es
©) ei of ES

(E) Answer not known
: alenL Ggflwuaidene

83. The size on which the dimensionals deviations are given is known as

<jerey Bper ehe sjarellen Bg Qarpasstiu@HApCer g . eTeo
SiHwutuhdng.
(A) Actual size (B) Higher size
O _GITEN LW TN B emay o W BeTey
.(({ Basic size . ' . (D) Lower size
D LI L GG GDDHILILE I6T6

(E) Answer not known
el QgMweldana

84. Which one of the fol-lowing dimension is out of tolerance for the size
+0.007 '

is 2770012 9 ~
+0.007

SpsanL sereyseiler erg tolerance eupbp@Eer @dera ? 2770015

(A) 27.005 (B) 26.986

(C) 26.995 . (B( 26.983

(E) Answer not known
eflenL Qgflwalldvana
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35.

86.

Which formula is used to calculate maximum interference?
Sflsuls genL samsSE(H Qe LweTUHD G erere ?

(A) Minimum size of shaft — Minimum size of hole
Sag. 6 GPHSULE DieTey — FeneTuller GanHsULE IaTey
(B) Maximum size of shaft - Maximum size of hole
g FELCF jeTey — glevaruller SflEul s SieTe
(C/ Minimum size of hole — Maximum size of shaft
gmarllen GapEsLLE D66y — Saigen SFHFULF SeTay
(D) Maximum size of hole — Minimum size of shaft
glenemuilen HHSLLE S6Tey — SEMiq 6l GDDHSULE SiaTey

(E) Answer not known
elenL Gaflweildeana

The tolerance sizes of hole 1s 75.000 and 75.046 mm, and shaft is.
75.018 and 74.988 mm in an assembly the type of Fit is
@ 2Gsntiefllbieo giemearlen Lreperey aurby Serey 75.000 wpppd 75.046

SIS, sabrger Lrageney eumiby Hemey 75.018 whmib 74.988 S arafldr =g
Ths euend QUT(HESSIDTE SEHLDLLD ? :

(A) Clearance Fit (B Transition Fit
@a_Geuatl QunpssLd rm QUTEhHSSLD

(C) Interference Fit . (D) Shrink Fit .
senL Qummssh S(HBIE dUTmSSD

(E) Answer not known
. edlemL_ Qg;ﬂu_laﬁ\si)spa)
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87. What is the expression of 30 H7/ g6?
30 H7/ g6 erénugy Qeueliiuiphidgieug) ereme ?

(1{ Fit (B) Limit
Qummssbd GuUbLY

(C) Deviation (D) Tolerance
SlareyBmed LTe0 Iy 6bTen

" (E) Answer not known
' aflenL QAgRwuaiidena

88. What denotes the number “6” in 25 H7/g6 ?
- 25 H7/ g6 & erawm “6” erng @Hl68ng ?
(A) Fundamental tolerance of a hole
glanemuileln g linenL epLlanip

(B) Fundamental deviation of a hole
gimarudlen SiglILemL. SieTeyLSpned

(({ Fundamental tolerance of a shaft
ST 6 BigUueL. ebLbenip

(D) Fundamental deviation of a shaft
gakrigen Sjigrine Sere|Bned

(E) Answer not known
eflen Qaflweldenc
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89. Which ‘Grade of Tolerance’ is applied for fitting process according to

90.

Indian standard system?

@pdwu grflewouuy Fitting Qeuomwepss eaps ‘Grade of Tolerance’
LweruissiubhSpg

(A) IT4 (B) IT 3
@ 1T 10 (D) IT 2

(E) Answer not known
efle Qgflwefdame

The difference between the maximum limit of size and the minimum
limit of the size is called
SFBULE Uy DETEFGD GMDHSULE bl eTes@h @enL ulemear

Geumur(h T M P&HILBHE S
(A) Upper deviation (B) Lower deviation
Gué ojeta Bpd < & sjerey Bped-
((Tf’ Tolerance (D) Actual size
LG &bT6iL D GHTEHLDWITET <B{eey

(E) Answer not known
adlen Agflwefdency
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91. Which standard stipulated the system of limits and fits in India?
QpHwureded eupbysar wHpb QuTEBsshsailar D@wl®mu abg srblaa
Blpeuard Hliresruisdlng ?

( Bureau of Indian standard
@odwu g7 Hiewru Luesiluswd
(B) International standards organisation
srauCss ST Sientoliy
(C) British standard system
Rt g6y S epoLiLy
(D) German standard
Qe syHlane

(E) Answer not known
ellenL @gflweilcensy

- 92. What 1s called the algebraic difference between actual size and its
corresponding basic size?

2 @renowiner arelipGd ds@ILa GsTiiyenw SigliumL  SerellhHEw
el lora Qupsearils Caumur® ereranCeusty simpasliLBEpg ?

(A) Upper deviation - (B) Lower deviation
Cué emey Bmed &b sieney Bmed

( Actual deviation (D) Deviation
2_GramulqInes yearey o Sjerey Wmeb

(E) Answer not known
eflenL. Glgflweldene
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93.

o4

+0.028

What is the upper deviation, of size 207%0%7 9
+0.028
20*0-007 erabip sjemeiled Gued eray Bmed eréucueaTa]?
(Hf +0.028 mm (B) 20.028 mm
+(.028 108 20.028 4.5
(C) 20.007 mm (D) +0.007 mm .

20.007 515 - +0.007 B

(E) Answer not known
eflen_ @sfluefdane

What is the main purpose of specifying tolerances in the design of
mating parts?
unslsaier Gummsssns euigeusrwULFD ghyudlew GHUGLOuGeudlen
Cprésd eremen ? ’ ’ ‘ ’
(A) To determine the colour of the parts
ursnseten Hpsas Srnraiss
(B{ To ensure proper fit and function
#flurer Qummssd LHRHIDL euddpamer 2 pHGFuW
(C) Toincrease the weight of the parts

ursiisaflen e mw SiFlsfss

" (D) To change the material properties

Qummetlelm LeTSemeT WwIHDH

(E) Answer not known
- eflen @zflwelidwena
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95. How does non-selective assembly compare to selective assembly

interms of cost?
demavenw eusg GCsrefleor gumudaamumu Csitey grEdameamiyL e
uUAE

(A)

(B)

(©

o

(E)

436-Fitter

Both methods have identical costs

@ran® wepaenh @Gy wrdlflurer Hewey 2 e wig

Selective assembly is cheaper than non-selective assembly
Gsirey prrdlaariy, Carelar gmphdaamiiamu el ndlerag)
Non-selective assembly 1s more expensive than selective
assembly

Gorelloor  gomudlaearuy, Csiey eurmdmardiou €L oidls
cilema L wig)

Non selective assembly is generally less expensive than
selective assembly

Gsirefleor  gurdlaeruy,  Gsiey gmwadoarieou 6L elow
G&HDEUNRTS)

Answer not known

eflenL Ggflwelidena
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96. How the ‘Bilateral tolerance’ is indicated?
8® s1oy gpy Gerp ereueuny GHILGLILEADE ?

97.

(A)

On upper side of the basic size
Sl tiuenL. erellen Gudusssdd

(B( On both side of the basic size

©

(D)

(E)

SigliLen enellen @ram® usstisafig
On any one side of the basic size
SgliuenL erellen gFHTeugl @ LssSSH0

On lower side of the basic size

. SigUumL Setellen SPusssHed

Answer not known
cllen G Mweldene

What does unilateral tolerance refers to?
SO 8704 gpyulienyp deg GHlédng 2

o

(B)

©)

0

(E)

Tolerance that allows deviations in only one direction from the
nominal size

SigtiueL. sareld@hs ghydepa smabdod Cr usssdd

| @mEGLD

Tolerance that permits deviations in both directions from the
nominal size

Sigliuen-  sereleEhg . ghyQenplar | seTaybpd Qe
LsESHD BBEGD

A tolerance applied only to length dimensions

Bor siaraisEnsE LLOL FHydow Gmésd

Tolerance that is uniform across all dimensions

Sadg leTeysEns@n qCr wrdflurer ghy Yy QEmsEd

Answer not known
ellen Qgflwalildeana
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98 What is the formula to calculate the minimum clearance between

two mating parts?
Qm Qurmssiu@b urshsEssdarulone @G@pbsuls @eLCeuaiamw
sansHHeugparen @ESrD ereme?

(A) Maximum size of hole — Minimum size of shaft
gienarlesr HHFULF Di6Ta — ST 6 GDDHSUILE SiaT6|
(B/ Minimum size of hole — Maximum size of shaft
gienaruilen GMDHSULE BieTey — SaTigel AHEULE N6Ta
(C) Maximum shaft size — Minimum hole size
samq e SHSLLF SeTa] — GMaTude G@DHSLL S 66
(D) Minimum shaft size — Maximum hole size
saiwmg. e G@PHSULF jerey — Zemerullen HflsLls SaTey

(E) Answer not known
eflen QgRwelcrency

99. What is the minimum interference fit between the hole and shaft
+0.030 +0.051

Hole — 550000 ghaft — 5510032 9

gimeté G, STHEGL G G o 6daT H@DHSULF S GTTaT?

+0.030 +0.051
gmm _ 55+0.000 (Q’)GﬁﬁT@ . 55+0032
(A) 0.051 mm : (B) 0.032 mm
0.051 B 0.032 (618
© -0.002 mm (D) +0.002 mm
— 0.002 W18 - +0.002 518

(E) Answer not known
eflenL QzMwelcrenc
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100. The number expressed a particular unit in the measurement of

length is

Bor ereliind @@ uGdH Swdd QeaeluuEsSILD T

ereriLi(pib.

(A) Basic size (B(Size
DI LIGHL. DIETE| <D|ETEY

(C) Limits (D) Zero line

QLY | wRw Car®

(E) Answer not known
elenL QzMweildena

101. tool is used to cut the pipe made of copper and bronze.

smflpld  wHmbd  CdeuaTseown  (GETUSMET DIES &(mell
vweTuREpg. ‘

. (A/Pipe' cutter
enuLlt ST

(B) Multi-wheel chain pipe cutter
ey -aied Gaullel enuilt &L LT
(C) Pipe bending machine
et Queimig i Gibadles
(D) Pipe wrench
ULl fené

(E) Answer not known
eflenL Qgflwsildena
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102. is the standard length of G.I. pipe available.

.o (G.L) eun deLssy Qupb Heewrer perbd

(A) 6 Feet (B) 100 cm
6 g 100 Qs..8.

(CY 6 metre (D) 100 inch

6 S 100 oxmi@geon

(E) Answer not known
sllenL Qgflweildency

103. One of the following seal is used between the flange joint of cold
water pipe line.
Spssan_aupdled aps @ Fo garg Galibs B eul eaflar Gerreng,
gruile&@ @erL G uweruhdmg).
(A) Asbestos gasket
Sev@uevL_mey Gasva
(J Rubber gasket
gliur Gaevsl
(C) Metallic gasket

Qi Lreds Casval

(D) Graphite impregnated cloth
drrepul Gadlapl Lo L genfl

(E) Answer not known
eflenL Ggilweiidana
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104. Due to which of the following reasons, knob of tap rotates noisily

105.

while opening or closing

Qemeu(mLd srenssre GLU Bri-g Snés dag apheaughHsns
sohmb Gurg susbd gHuBEDE.

(A) Worn out the threads of spindle
aulGlairig & wenyaaT Golieuam b (HSs0

(B) Defective washer

L(pgenLbg eumagm
(O{’ Loosened spindle valve

eI ITIGED GUTEDGY HETTEUMS B)(HHEHD
(D) Bent spindle

avlairig e eueneTEl(HEHeD

(E) Answer not known
alen Qg flweiidens

1s used to control the flow of water from the pipes to
open and close.
Gwmidmbg  seawenteny  GgawausGspu  HpriughHEbd,  @LLUILSHED

LwesL &l enpan.
(Y Screw down water tap (B) Gate valve
H(m@, euens eum_LiT GLL Gal euréhey
(C) Stop cock . (D) Plug cock
UL &Md Getd &mé

(E) Answer not known
el Qsflwelidama
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106. is the included angle of B.S.W. pipe thread.
B.S.W. @pmi werder o Caramnd

(3(55°

Ay 29°
(C) 60° (D) 27.5°
(E) Answer not known
' Men Gsflualdane
107. is another name of adjustable pipe wrench.

St gevL19eT enuls fems-er HEADIEH Quwir

(A) Strap wrench

eor_gmrei Merd

(C) Chain pipe wrench
Gdeuller euu Mers

(E) Answer not known

eflenL Qpilwueidens

(E/Stillsor-l pipe wrench

euigdogen enull Merd

(D) Foot print wrench
L Ol Mend

108. type of wrench is used to tight the pipe upto 50 mm

diameter.

50 mm euey L 2éten eulsmear @m&sd Geuweyd, WigsEsa|h

2 seydlng.

(A) Strap wrench
ULenL Gpmd (pmiss

(C) Chain pipe wrench

a=rf.1é]a5] GRmo ppsd

(E) Answer not known
alen Qgflwaidene

436-Fitter
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(B). Foot print wrench
maFeuh @GPl Q_,ogjésaﬂ
(D/;tillson pipe wrench

GV EDFET (GO (PMISS



109.

110.

200 mm..
200 mm eueny &L gpercw Quflu eulsmer 1G4 &s

vice 1s used to hold larger diameter pipes upto

uwerLhEmg.

(A) Pipe vice | (B/C'hain pipe vice
UL aneuE Qauller enLI) anaueiv

(C) Bench vice (D) Pipe wrench
Queé aneua ' et Mend

(E) Answer not known
efen Ggsfweddame

What is the radius size for long radius elbow?
Sidlas 7 Serey erddGumellenr <y Biamey

(A) Equal the bore of the pipe

HULI-GIT GIDET IET6YdH(E FOW

(B( 1% times bore of the pipe

@ULI-GIT GIeNET BieTeld@ 12 LrkiE,

(C) 3 times bore of the pipe

GOLILI-GIT FEN6T eToydh(E 3 LDLMBIE,

(D) 2 times bore of the pipe
PULI-ET FIEPaT BeTe|S@ 2 L EIE

(E) Answer not known
cllenL @gMwelldene

49
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111. Which type of filter is used to remove ferrous materials from oil in
hydraulic system?
emanLyradls el aamtaruilealhg @by Fribs QUTIELGamer SSHD
ahg e s ly LwuaTuRSSLILHADS ? ‘

(A) Pressure line filter (B) Offline filter
3(PSS UG GlIg &L g Do s LINEVEN GUlg &L g

¥ Magnetic filter (D) Absorbent filter
FMHG GulgsH ig ' 2 Mlghe euigEL g

(E) Answer not known
efer Qs flweldena

112. Which valve is used to remove the excess amount of oil in the
hydraulic system?
@angredls wpepulld eifstugurar aanrtemi emmes SH@EGUsHE THS
euméa| Liweru B mg) 2

(Af’ Px:essure relief valv.e -
2(Pssb eHReflliy curday

(B) Pressure reducing valve
S(PSHL G@PUL aUTeva]

© Pressure regulator valire
SI(PSSD S HLUUBISSHID UT6

(D) Roller valve

2 (HENHET QUITEDE

(E) Answer not known
ellen GaMwaldwane
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113. Which energy 1s present in oil by virtue of its motion?
araRTenl Bigen @uisssdlern epad HEWD LHDD eremar?

114,

115.

(A) Potential energy

S wloresT <y, Hme
Static energy
Peveo o

Answer not known
efen GsMlwelcdena

©

(E)

(B{Kinetic energy
Qués bHeD

(D) Heat energy
Gauiu gy Hmed

Which part of the single acting cylinder is attached with load?

(A) Spring
F(mHaTelleh
(C) Piston
2 fhg sehr(h
(E) Answer not known

eflenL. Qzflweldena

" ghenpn Qeudur@ e (penerullen aTpg LGS S|l e @) enamssliul_HidTarg ?

(B) Seal
&o

(DY Piston rod
2 gl Sem sl

What is the science under that you study the properties and

application of air?

srodler LweTLr@aer wHmb LeTLseT LHB Brisdr Ligliug eremen yBlefluieh

8D Bm&Epg 2

(A) Atmospheric pressure

cuaflinar_a SipSsHb

(C) Hydraulic system

el SapwLiLy

Answer not known
len. Qgflweidena

(E)

51

(MiPrieumatic system
&M ML

(D) Mechanical system
@ubdly el
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116. Which valve has two inlet/one outlet in hydraulic/pneumatic

system?

@anl_jredls/ B 1gés iemwilld @reanh menwpemlea/em Ceuafls @em)g,nm

culfl QasmamHiarerg

(A) Slide valve
B(Pey auUTeLa]

(C/ Shuttle valve
el g6 GUTEEY

(E) Answer not known
sllen Qgfweldens

(B) Check valve

Gargenan eumeda

(D) Solenoid valve
Qerellarmi eumeday

117. What is the operating voltage of electro pneumatics?
erusl Crr HIGLL RS Quss Wenan(PSHh eremar ?

(A 10V-140V
(C) 15V-200V

(E) Answer not known
cflevL Qgflwalldvenc

(Bf 12V -220V
(D) 200V -240V

118. What is the formula for the cylinder output force?
o mener GeualiCupmib edensdanrar eumiiumd eresmes ?

(A) F=P/Ax10
«f F=PxA/10

(E) Answer not known
allen Qzflweldrana
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119. Which formula is used to calculate force?
cllengepl eSSl 2 gayb eumILiLTE 6rg)?

(A) Pressure/ Area
2APSSD / urdueTey
(C) Pressure — Area
S (PSS — UFLIUETEY
(E) Answer not known

cflenL Gaflueddena

(Bﬁ’ressure x Area
SHWPSHSLD X uuueTey

(D) Pressure + Area

S(Pssd + ugliuerey

120. Which formula.is used to calculate the pressure? .
(WSH55MF SeMEEIL 2 geyld umILILm( 6rg)?

121.

(E)

(A) Force + Area
eflens + urliverey
(C) Force — Area
ellens — LiFlILETEY
(E) Answer not known

ellenL Qzflwueiiwena

(B(Force !/ Area

aflena ! urliveTay

(D) Force x Area

eflens X LTLILETE]

In order to protect the slip gauges, which one of the following is

applied?
avelll  Cagaemer  UMHETIUSDHETS
LweTURSSILRE DS ?
(A) Petrol
QuLCGrymev
(C) Diesel
Lo &0
Answer not known

eflenL Gzftweldens

53

Ylereu (Heuamaumed

(B"ﬁetroleum jelly

TS e

Qui_Crredlwibd Qegered

(D) Kerosene
&t {ol evet el e
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122. Slip gauges are made up of
auells Cagmadr @gearmd Gaiwtu@derper

(A) Mild steel (B) Cast iron
Qe erees eumiTLIL @(mby
(C) Medium carbon steel (D/High grade steel
BHSST SMTLEH 6To0( WG] 6Too(®

(E) Answer not known
eflen Gz flwaidwena

123. Which one of the following is used to clean the slip gauges?
QetreupeuaTeudmIeT eThs @eTnl Gvaditl Cagamen HEsh QsuiLl LweTLHADE ?

(A) Kerosene (B/Carbon tetra chloride
L0 &7 Gl T e ol emsTui grituen Guigm @Germeny ()
(C) Petrol _ (D) Distilled water
Quu_Crpmed g Bir

(E) Answer not known
elien AgMweildens

124. Calculate the height of the slip gauges, if sin30° =1/2 and length
of sine bar is 200 mm
sin 30° = 1/2, aser uierwler fomd 200 mm yseyb @Epstad, dvedll
Cogaaflen wrsmss sansd[Ds

(A) 150 mm (B) 175 mm
(C)f 100 mm (D) 125 mm
(E) Answer not known |

allen Asflueiidena
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125. Which one of the following is suitable to scrap a bearing?
Gemeu(meuameuhmieT eThg ety Cufihiers GramTheusNE SEHSIH ?

(A)

©

(E)

Flat scraper
SN HeTlg

Triangular scraper
Wp&CaHmemt GreRTiy

Answer not known
cflenL Ggflweiicbancy

126. Another name of leaf jig 1s
T et glsdlen wpGpran Guwim

(A)

©).

®

Post jig

Gumeul gls

Plate jig
AGeit g9

Answer not known
cllen Qgmwefilaene

55

(B) Bull nose scraper
STENET PGS, SieHTlg

(D) Half round scraper
SenFeill L &y

(B) Indexing jig
Rer_s8m s

O Latch jig
Carl & sls
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127. The jig used to drill at angles other than 90° 1s
90° g gafly 9 Cararmsalld Feavemui 2 goyb & erg?
(A) Boxjig
Lméen gl
(B) Angle plate jig
< andler GGar sls
(C)' Channel jig
Caaned gs _
(I/ Modified angle plate jig
wrhdwewsstin’ L Syhdld NCar eils -

(E) Answer not known
aflenL. GgMweilcreney

128. Which one of the following is non destructive testing?
Qeraugpeuareupia eTbs epeatm 2ifiedldver Gargaear?

(A) Crash testing (B) Hardness testing
ApmotiEh Cargeaner sl angganenn Gangeanen

(C)/ Ultrasonic testing (D) Pressure testing -
BQwimed Cemganen 2(PsF Cangamen

(E) Answer not known
cllen WzRweildene
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129. A plain ring gauge is used for checking
@R STHTIeRT cuenatl ietell @senar Camdlaal LweaTLEHDng)

(A)

(

©

D)

(E)

Taper holes
afley gemar

External diameter of cylindrical parts
eul_L_omen Lmsriseten Geuafl a8l LLb

Internal diameter of cylindrical parts
eul L omer LGiisefle 2_61 el b

Major diameter of external threads
Qeuetienyufer Guflw N Lib

Answer not known
ellenL Qgflueidene

130. Which of the following statement is correct?
Epaar hs spp FHlwrerg ?

(1) Gauges are used to measure the size

2iaTas@eT SjereilL jerelladr LweTuhssliuhiSlerner.
(ii) Gauges are used to check the size

Siareysener sflumiss erelsdr LweaTuBSsULIGS e
(1i1)) Templates are used to check the size

- yeraysanet sfuriss QLbUGeT vwaTuBSsLLpSleTner.

(A) () only (B) (1) and (ii) only

(1) w @b (1) wpmb (11) LG
(C/ (i) only | (D) (i) and (iii) only

(i1) wC b (11) whHmid (111) wi Hibd
(E) Answer not known

e Ggfueidame
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131. What are the screw used in places where fixing and removal of
components are frequent by finger tight?
Mred @mésssred urshsmeT CUMTMISHSH LOHNID ASHDUF Slyésl
Bl Qupb @ hiseid LLGTLRSSILEL SHESST (FuE®,) Wramed ?

(A) Machine screws (B) Setscrew
Qodlerr 6o m Qe evEm
( Thumb screw (D) Wing nut
B S ' ‘ el BL
(E) Answer not known |
eflenL Qg flweidane

132. What is the shape of woodruff key?

o gl smeflullen Gulgeuld Grebren ?

. (A) Cylinder (M Semi circle
' . o (pemer . . S yeuL_L LD
(C) Sphere (D) Triangle

Gamerid p&GaETamLd

(E) Answer not known
eflenL Qgfweldene

133. A nut which can be tighten/loosen by thumb pressure and used in
hacksaw frame is called

‘slenl 6l sipSss5Hen epl @nEsebd seTissed womb Canser

GCrléd LweTLRSSILIHID B

(A) ring nut (B) thumb nut
- Gordly U :  slenLellged B
(C) capnut (Df wing nut
GaLt L el B

(E) Answer not known
alen Qsflweldena
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134.

135.

136.

Which key is transmitting more torque?
ahs smell ifls Lnisms sLigdAng ?

(A Gib-head key (B) Woodruff key
2lt geney Fre &L sl Fmefd

(C) Feather key (D) Flat saddle key
@G (xEugt) grail S enL. FTiged Fred

(E) Answer not known
efen Agtlweildena

What is the available range of individual radius gauges?
safl euend 7 sjatedl e &al QUMb euUFLbL| eTeaT?

(A( Step of 1 mm (B) Step of 0.5 mm
1 B uguien 0.5 88 Ligulad

(C) Stepofl.5mm (D) Step of 2 mm
1.5 818 ugufed 2 OB ugule

(E) Answer not known
alenL Qgflweidene

What type.s of nuts are used in coach building works?
Cumpg 2tH slhwrer Caumeselds  aaear  ues
vweru Rssuu b &lemmen ?

(A/ Square nut . (B) T nut
57 BLO Ts @

(C) Wing nut ' (D) Cap nut
Bre 56 : Gemud prG

(E) Answer not known -
eflen GgMwederene

59
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137. What is the advantages of lock washer?
WG euragfler perepaer eremer?

(&)

(B)
©)
o

(E)

To provide increased bearing surface
STRIGD LTLoU dsfss

To prevent the damage to the surface
LU L(pSELGUeng LITGI&ETSS

To distribute even pressure on working surface

- Coume urile sissses &irs Lflibselss

To prevent bolt or nut from loosening under vibration
<irelflamed Curalr () sl sarfaudlaliphg UTsaTES

Answer not known
ler @gflwueiicvane

138. Why slots are provided in the slotted castle nuts?
auem_L® Caeviged B g el oIl (HaeT damwdsiiuHidrarar ?

(A{
(B)
©
(D)

(E)

436-Fitter

to fix split pins
Yerey Gemgsener GUMBSS

for good appearance

pe GonposSpens

to reduce the weight-of the nut
BL g 68T eTEnL_ MW (SHMD&ES

for easy removal and fitment
eraflgng spmpeynd, QUTmHSSELD

Answer not known
clenL. Gsflwaiicena
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139.

140.

Which type of key used if the hub or pulley has to axially slide on
the shaft to some distance?
seamgen sUE (B1) GLL ipar HFfd Aflg b BameushE abs @mel

Lwerui ?

(AY Feather key (B) Flat saddle key
@m@ snell slenL Caemr Fmell

(C) Circular tapper key (D) Hallow saddle key
el L &fley #rad ‘2 drens Goeanr el

(E) Answer not known
slen Ggflwalcena

How many set of feeler gauges?
clerit Caglled erdgenen QFLaeT o eraret?

(A) 2set (]E{Al set

' 2 Qe } ' 4 Qe

(C) 5set (D) 6 set
SRAL 6 Qs

(E) Answer not known
ellenL QgRweildena
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141. What is the primary function of the lathe bed?
Cog Qui_-am apgeentn Lienfl eremen ?

(A) To control the speed of the spindle
evifamiy e Coussens sl HLLBHSS

(B) To hold and rotate the work piece
BTU-8 Y bgl spoD

'(C/ To provide a stable and aligned base for the lathe components
GasdiE Hevawrar wHmb &M QFLWUILLL S 55aE®S CUPhIS

(D) To support the tool post

. B Gurevl. flenew FlpsgicusHE;

(E) Answer not known
eflen Gafweidena
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142. What is the purpose of the tail stock?
QALufler evLné-er CrrEsD arear?

(1) To hold the long jobs

Semorer ueflLiQurperar Gy 55 Qsmerer

(2) To hold the drills
g ilébav-g3 Gy Sg Camerer
(3) To hold the cutting tools
slig i Fevev-g Wy sg QEmerer
(4) To hold the reamers
foey Gy 55 Qarearer

(A) (1) and (3) are correct (B) (2) and (4) are correct

(D) wpmid (3) &f

(2) wpmio (4) &

(C) . (2), (3), (4) are correct (D{(l), (2), (3), (4) are correct

(2), (3), (4) &

(E) Answer not known
aflenL Qgflweildencw

(D), (2), (3), (4) &l

143. Which one of the following has 29° as included angle?
Wetreu(meuameubmieT erhs gatn 29° & o I Canarrons AupPlmsding ?

(A) Buttress Thread ~(B) Knuckle Thread
u-ye Sy B&GET SQT

(CY Acme Thread (D) BSW Thread
250 SQAy ' 9. erehv. ey, Sl

(E) Answer not known
aflen Qzflwaiidena
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144. What is the maximum swiveling angle of the compound rest in the
lathe machine?

Cas @updlrsde srb@uaram’ GQrevl & HEsUCs s GCHTTD 6Tee ?
(AY 360° (B) 180°
(C) 90° ‘ (D) 60°

(E) Answer not known
eflen Gsflcienay

145. What is the meaning of OSH?
OSH arenpred eretrans
(A) Organization Safety and Health
SEpLIL LUMgGSTUL whmib < Crrédwui

(]E{ Occupational Safety and Health
: Qzmfleos ungismiy wHpb WErréEdun
(C) Office Safety and Health
DQIEIDS UNFSETUL WwHmb < Crrsdub
(D) Occupational Surveillance and Hazard
© Uasmfles samsrasflly wHmb umub

(E) Answer not known
eflenL Qzflwaicdrana

146. What 1s the standard colour code used for waste metal bin?
2 Gars sfley Aunmismer Caflés apg sar Astiy LwearLGssLILEEHDS ?

(A¥ Red ‘ " (B) Blue
Ay Hawb

(C) Green (D) Violet
. UFenF , . oeTgm

(E) Answer not known
afenL. Ggflweildene
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147. Primary function of the headstock in a lathe machine is
Gos Quibdlysdld Qaml evLnd-e (paeren Ceuame eremet?

(A) to hold the tool
smellenu g dg apeuliLg
(J to hold, support and rotate the work piece
@rl-g 194656 D SMEIGE|D LHMID &P
(C) to control the coolant flow
o wey Sreuseng s HUILGidsa|b
(D) to move the carriage
CaGrg-8 paigsed .

(E) Answer not known
eflen Qsflweildensa

148. How should a rotating chuck should be handled in a lathe machine?
Cas @ubdlgsdld &paib F&ans ereuaumy enswimer Geuam(it ?

(A( keep hands and tools away from the rotating chuck

@& wHHL &melsmer &b Fadambg LTS  meusH(HEs
GeuamHid

(B) adjust the chuck while it is spinning
&% sp@b Curg sies Lgndlssa b

(C) operate the lathe without any safety-guards
' UG ST HougL ad) Cagang @'mé;aseqfo '

(D) remove the chuck when the machine is running
Qupdrbd ehw Gury F&ms BisHHe|b

(E) Answer not known
MenL Gsflweldaea
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149. The included angle of the counter sinking portion of a center drill of

type ‘B’ 1s

@m ‘B aems Qeari ghadea seyami afimdn Lu@Hied ewbgeraer

@en@GaL B g rudler
Ay T75°
(C) 100°

(E) Answer not known
sflenL Gsflweiidena

B) 90°

@f 120°

150. In cutting tools the side rake angle is varies from
sl Gosefldr ame® Cré gyrder si@mwsstiu@ib Carerr SeTey

Ay 0°to 20°

0° apsed 20° auenyy
(C) 30° to 40°

30° wsd 40° areny

(E) Answer not known
cllen_ Qgflweldena

(B) 10° to 30°
10° @pse 30° cuenry

(D) 40° to 60°
40° apgé 60° suenyy

151. Scroll and gear mechanism is employed in
&meT HmID Hwuir Qwsstaflsn s@wbHmriug @) said

(A/ Three jaw chuck
&F-gom 55

(C) Magnetic chuck

Cusar_ys &

(E) Answer not known
aflent. Qgflweidena
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(B) Four jaw chuck

oI [T &

(D) Collet chuck
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152. Which one of the following is used to hold cylindrical rough casting
for turning?

sruulperareupdle) eThs qeaprang seLgd Gelw Geauamgw Hdlar s
Joull &MevIgBINSG 9168 2 seySlpg ?

153.

(A) Three jaw chuck (B{]?‘our jaw chuck
S g g6 . SGUTT @ &4
(C) Collet chuck (D) Magnetic chuck
- slel & ' ' Cusar s §&
(E) Answer not known
cflen Qsfluefdena
The lathe bed has

Cag Quiiiged @muug

(A)

One set of 'V' guideway and flat ways

. e Qe 'V esBHCeusv whmib SQemm Gousv |
({ Two set of 'V' guideway and flat ways

(©

)

- ()

@m Qs V' ensmCeuav wHmib Swferm Gous
Three set of 'V' guideway and flat ways

aparm Qe V' evs®Ceusv whmih lblerm Geush

Four set of 'V' guideway and flat ways
preng Qe V' ensRGeust whmid Sslerm Geush

Answer not known
eflenL Qgflwaidrena
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154. Which one of the following is not a part of the center lathe?
sruul QetaraupBier erbg G LTsh dear i CagdnegNugda ?

(A) Saddle (B) Feed rod
. Gagiqed SU@ gr®
(CY Arbor (D) Lead screw
S, T SR e emel

(E) Answer not known
allenL. Qzflweicene

155. An oily floor should be cleaned by ] ]
ulled upbgdTaT SaTsms/ s &S50 QFuw CauddTqug @smend

Qa;rr@T(Bl_

(A/ Cotton waste

sl Len Geusven & Qamesm(p
(B) Putting water

sameantenys s mes ()

(C) Putting saw dust

ISSHEaTEMmeTs Clamam(H

(D) Spraying carbon dioxide/sand
&MiTLeT-enL - seneavent/ emred NGy Qaiig)

(E) Answer not known
e Ggflelidana
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156.

157.

Below given the statement which one is not true?
ECy Gar@sslu’ L mpnsseld abs genn efurearg oida?

(A) 4 -jaw chuck is used for eccentric job
B srenl seuell evw eflag GaL_FadE, LwaTLRE DS,

( 3 - jaw chuck is used for eccentric job
epein e seuell enow eflexs, sl gaqid@ LweaTLHdng)

(C) dJaws of lathe chuck are made by high carbon steel
Cos sédlen grsser 2 wirblenes &M 6156 d QeWNILL G HEED
(D) Jaws of 3 - jaw chuck can be moved simultaneously
apatm sreL seualluder srentsener Gy Crrsdld paTss@MD

(E) Answer not known
adlen Qgflweideana

In lathe operations, recommended cutting speed to turn mild steel is
CGog OGeudur@seii®, CQuwer ei@-meu swLeusHE LRBHOIESILGHLD
Qaul ) Geusld :

& 35 to 50 m/min (B) 60 to 75 m/min

35 s 50 S/HOLWD 60 wsd 75 B/HAL1b
(C) - 80 to 90 m/min- (D) 95 to 110 m/min

80 apsd 90 S/H Sl 95 apge 110 S/ 1b

(E) Answer not known
efenL. Ugfwelldene
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158. What is plain turningr in lathe machining?
Cos QuibdrsSed Qevarer Liafii’ erampmed cresan ?
(A) Removing material to create a flat surface
@@ swwrer CuHuriieny 2 (Heurss 2 Carsimg AsHHIeS

(B/ Creating a cylindrical shape by removing material
R(h HFLPID U USMS D (HUTH@GeUSDETs GUTHMer ASHDHIeuS)
(C) Cutting material at an angle to produce a conical shape
@(h Carenm euigeusms 2 (heunss Camanmons deul (Heug

(D) Shaping material by using a rotating tool to make intricate
designs . _ .
HESOTET GulgeURISEMNET 2 (FEUTHGUSHE FLPaD SHefllenw LweTUBSS
QummereT GulgeUMDLILIG)

(E) Answer not known
eflenL Qaflwelcvana

159. What does red hardness refer in the context of lathe cutting tools?
Cas @QupdrsHe Red hardness-er uwen ereran?

(A9 The tool is ability to maintain hardness at high temperature
@ifls Caulufianasefld smelllfcn suasms ssameusiGLD Hoe

(B) The tool is ability to resist corrosion
<fliy gemennenw) arlis@EHn Smetr

(C) The tool ability to conduct electricity .
leremyd SLGGID Spet

(D) The tool ability to remain sharp at low temperature
G@ophs Deuliufleaneuiles simwwre GG smallufier Sner

(E) Answer not known
eften Qgflweldane
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160. What is the main function of the carriage in a lathe machine?
Gas Quisdlrsda CaGrsy-anr upsdlu Ceusnew erebran ?

(A/ To move the cutting tool along the length of the work piece
Geul () smailenws srindlen BersHn@ BoTEHSH
(B) To hold and support the work piece
K-8 Yuss ol pLsssd
(C) To provide rotational motion to the spindle
evleimg & FpnHflenw gHudSsse
(D) Control the speed of the lathe
Cagdlen Caussans sLHLLGHSGS

(E)" Answer not known
ellenL. Qgfueidene

. 161. Which of the following is a recommended safety practice for lifting
"and handling loads? ] ’ '
aaLgaer  gGiEGh  Gumgd wppbd  esum@bCurgId  urgisTly
BanL_peppuiler ergl LfipgmysstLbhdng ?

(A) Wear wood hand gloves
LISH@TD 6 s D Harflsd
(B) Wear rubber hand gloves
TUURGTTED T MEWD S ewtlFe
((?{ Wear leather hand gloves
GCaraflanmed e evsujenm ienflgea
(D) Wear plastic hand gloves
NETHEIGE 6D T BEBUEDD 6w 56D

(E) Answer not known
cllen QgMwelcdene
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162. PPE2 means
PPE2 areéug

(A) Ears protection
&g UTHETUL &aUFLD

(B) Eyes and face protection
S&m WHNID (PSS UMGISTUL| &eUFLD

(C) Helmet

SHVEGUFLD

| (D{ Safety foot wear

LTgSTUY STeeriisdr

(E) Answer not known
cllenL @z flwelerena

. 163. Which one.of the following is a common for the disposal of hazardous
waste materials?

Gemeupeuaraupdles urusyorer sfley QurmLsmer BsHREISDHETEN
Qungleumen (Wewm 6Tg) ?

(A) Land filling (E{Incineration
floosdler Yansliug _ arflgg FTDLIOTHGHH
(C) Recycling ' (D) Composting
wn spHE Geligea D_TLOM&ES60

(E) Answer not known
eflen Qgflweildena
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164.

165.

What should be used to arrange the tools?
smellaaear @uEIGUBHSS datar Lweabhdss GCeuar@ib ?

(Pl Rakes (B) Glasses
Cré@sar SegranTimig.ufled

(C) Tables (D) Floor
Cuengyuiled Fepruiled

(E) Answer not known
eflen Qs ftieiidene

Which type of Rack can be used to protect tools during hot work?
Qeutuwrer Geauenew Wauwwyd Gurg smellamer uNgaENégs ehg elswrer
Créev LwatuRSsunHSetng

(ﬂr Pallet Racks (B) Silver Racks
Gua_ Créev Seveuit Créev
- (C) Diamond Racks | - (D) Pack Racks
enL e Crée Gué Créev

166.

(E) Answer not known
eflenL Qgflweildensy

How much pressure can the bend stage spine bear?
auameth s Curg wgEs@IbL aTS55MT LLEIG NPESSMS STHIGLD
SETENLD 2 L WG ?

A 1 | (B) 4
€) 3 | e

~(E) Answer not known

eflenL Qzflwelldwens
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167. Why 5S method followed in a workshop?
Ceuene Qe @Lsded 5S wep LLGTUHSS STTERTD areser ?

(A)
(B)
©

of

(E)

To increase production speed only
2 HusH Ceussans W HL AH&MNES

To reduce the need of training
upSluler Caemeuanit GepLUSHE,

To minimise equipment maintenance
2 Lisyent LTTLAUMU G®DUIUSHE

To improve organization and working system
ueril yepliyser whmw ueafl FerLpapsamaer GLbLIHSS

Answer not known
ellen Qgiweddrena

168. 5S principle derived from .

5S sggieud QuplulLg

Singapure (JJ apan

(A)
LN AN, SRLILITEhT
(C) America _ (D) China
AT ET Sarmr

(E)

Answer not known
flenL Qg flweldvane

169. What is the primary cause of a power failure?
e anertiil] gHuUbBeuSHE (PSS SMTERTLD 6T6TE ?

f

©
(E)

436-Fitter

Over loaded circuits (B) High voltage
Diflsene| WenFnys spHH o Wit BlenGesrm_Lib
Low voltage (D) Power surge
G®phs WlerGammiL b WOedT LITeuEL

Answer not known
aflen AgRwaelldene
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170. Which one of the following are bug categories in system failure?
Flevi b Quuidiuir U auassaller ST gem eg ?

(A) Cup bug (B) Down bug
&L Lo, L QY6 Liso(&

(C/ Brain bug (D) Right bug
Qenelr Laa T Liss

(E) Answer not known
sllen GgMueiicena

171. What elements are needed to lift an object's weight?
@@ Qunmetlen Tl FIHGeUSHE eremen snpishem Geuskr(hibd ?

(A) Body building, status, experience, peace
2 LhsL (. Flenew, Digiueud, Siewdl

(B{ Age, body building, status, experience
cuwgl, 2 LHal ), Hlene, igjiuerd

(C) Age, body building, status, peace
euwgl, 2L st {, flene, ienod

(D) Status, body building, experience, character
Hlane, 2 L har B, Sigieuth, SETenLD

(E) Answer not known
e Qg fMwciidana
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172. White symbol on green back ground with square of oblong shape is?
Qrelcussden sxpb eupeleome ufms BHn WDayasdd Ceudteer Hp
@MuiGser Qumdlssiiuligmullen Siameuser

(A) Prohibition signs (B) Mandatory signs
san_ GHluipser gL @HuUG a6

(C) Warning signs (D{Information signs
asefldes @OLIHsdr &&6UQ GHUIG ST

(E) Answer not known
sflen GzMluelidea

173. The final 'S' of in the '5S' concept is
'5S' Qanarensuwier @miFwrer 'S' erg?

(A) Sort (B) Set in order
. Emil ‘ _ Qe Gem gy, fr
(C) Shine ' (O Sustain
N EH6HT ge@uTe

(E) Answer not known
elenL Qgfwaldens

174. What colour code is used for recycling bin for metal?
@ (moLy s fle|sener mIFPHE AF:TOT TS Hp QgL 1 ST

LweruhSsTILRElerng ?

(A)  Yellow ' (B/ Red
LD@hET SAeuliy

(C) Green _ (D) Black
L&eng &(HLIL

(E) Answer not known
sflenL QgMwaldens
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175. Which of the following is a common cause of COMA?
\Yesreu(peuameup e Camomellen GUTHGITE ST 6Tg) 72

176.

(A)

©)

(E)

Common cold (B) Stroke
gngmyent safl Li&&eUTELD
Minor cut (D) Muscle strain
flw Geu { s g L1y

Answer not known
eflenL GgMweiidana

Which type of safety sign uses a red color with a diagonal line

"through it?

GThG GUMSBWITEN LTGISTUL HepLwumend Bigen euflums e epaneailL. GCar@
Qaramr_ feutiy Bnsdld @GHsECH GCarh o creng ?

(A)

@

(®)

(D)

(E)

Warning sign
arésflEens e wmer Ferarid

Prohibition sign
sanL_& Slemenid

Mandatory signs
st mu Flesannd

Emergency information signs
SIGUET SEHEUD DiemLWITeT Seaid

Answer not known
eflenL Qgflwueiens
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177. ABC in first aids 'A' denoted by
wpaaseduie AL au@n ABC W 'A' adiug aes Ghlsdeamnsg 2

(A) Air (BY Airway
STHY srHCorLii_Lb
(C) Air condition (D) Air circulation
GalepLy. STHD SPHE

(E) Answer not known
aflenL Qgflweildena

.178. Emergency.service in police and fire service number is
GumeSen 2 g6l HYD SWereawiliL BimPLUSHETE Fieilay eraiT

f 100, 101 (B) 108, 101
© 121, 101 (D) 109, 100

('E) Answer not known
clenL. Qgflwalldvane

179. Which safety symbol indicates that Personal Protective Equipment
(PPE) must be worn?

arbg ungisTiy Hened geneflenw urgismiy srgerhgar (PPE) sianflu
Ceoua(Pd ereiLiang &Hl& @b ?

(A) Warning triangle
© agEfses (pECETaRTD

(B) Skull and cross bones

weisrenL @ LHNID GNI&E TIIDLSHET
(Cl Gloves required

awmpsar Csamal
(D) Locked out

LUl L gl

(E) Answer not known
eflenL. Ggflwelicoana
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180. Which of the following is a common method for disposing of metal

181.

scraps in a workshop?
uestiwearda 2 Cars siflesamer SEHUSHETE QTGN WP®D 6TE ?

(A) Incineration (B) Land filling
afga FTDUOTEGSH LanS 550

(C/Recycling (D) Composting
Ln &HpHél 2_TIDM&HEHSED

(E) . Answer not known
ellen AgMweldana

is a benefit of using rack and pinion mechanism.

Crs wpgb Weflwer wsdw Cprésid

(A) They provide variable speed control
wrpulL Geus sl(uurieL aupkiEing

(B/They convert rotational motion into linear motion
sphfuler Qusssms Corg @UsswNs wrHnHns

(C) They are used high torque application
Seneu ev@p Lmiduflen power - &@& uwaruREps

(D) They offer continuous motion without stopping
Bpsslend QAsm_i&durer Qusssms AsTHSE DS

(E) Answer not known
afisnL Gz flweiidena |

79 436-Fitter



182. How does find helical gear?
Oanellsse Swany ereucumm searr(HibligLig) ?

(A) Teeth are parallel to the axis of rotation
UDEET NF&HEE RlOaTLITS @)(H&EGLW

(Hf Teeth are cut at an angle to the axis of rotation
UD&ET SPQID HFH&EE Caramions @)(mEEwh

(C) Teeth are curved
UDSET GUEMETEUNS ([@)(HéEHD

(D) Teeth are straight and perpendicular of the axis
upaeT Cuyne DFsEE Qenamuns @)(mHE@ELD

(E) Ans;rver not known
clenL Qsflwelavena

183. : type of drive is commonly used for mining industry.
FEIS genpulled euens enfel LweTUHSSUUHADS.
(A) Belt drive " (B) Hydraulic drive
Quel Guissb @aniyrmells Quisstd
(Cf Rope drive (D) Chain drive
Grrs @wésbd ' Qelen Quisasd

(E) Answer not known
sflenL Qgsflweldrena
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184.

185.

In fast and loose pulley system, pulley 1s responsible for
transmitting power?

umrevl whmi gren yeteflufled Lol sLSg 6us .

(A) Loose pulley (H/Fast pulley
Qran Lebed umevl Lyebedl

(C) Both pulley (D) None of the pulley
Blyem® yeellas@pb @ agiajb Gome

(E) Answer not known
eflenL Qzflweildene

t.ype of coupling is designed to accommodate sli;ght
misalignment between shaft?
eyl sEnsE @ Cu oder @QLsws sHm @QeLuih) esssdsterer

sriafih 2 &Terg).

(A) | Rigid coupling ’ (B) Fluid couplingr
Mgl sliefim Areu sheflh

(Y Flexible coupling (D) Magnetic coupling
euenemLb sLiafm CurGeangsd stiafin

(E) Answer not known
edlen Qzflwueiecrenay
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186. is a significant advantage of using helical gear over
spur gear.
eour Aumrer @UdGn Curg GCapdissd Awursmer LWETUHSIICUSE
Cprésb

(A) Higher noise level
IIF& 853 DiaTEFHET

(B) Lower cost
- @epeuner QFwey

(C) Less efficient power transmission
G peunen Hpen Femento

(I{ Smoother and quieter operation
Wgwrear LHOID HewHures deudurip

(E) Answer not known
eflenL Qsfluaiidens

187. The uses of V-Belt in power transmission is
yrearevfayaficy V-Belt eriig uwatu@gssiiu@dpg
o

Transmitting power between two parallel shafts
Qe swssyren erul-@ ssSevw LRLTHDL GFww

(B) Providing timing and synchronization between gears
miapsswrer Crrsasu|d sdlanFub euLpnkis

(C) Connecting electrical components in circuits
Sereuaeruiisaila W eralwd FMIFEOET @)NETES

(D) Transmitting fluid between reservoirs
feteumufler Hreugens Galss

(E) Answer not known
allenL QsMwelideana
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188. Which bearing carry the load parallel to its bearing axis?

189.

190.

abs Guilh YTy g s@LML AFHEE BaTUTs FLSADS ?

(A) Split bearing (B) Plain bearing
evlledl Guim WQererr Guflm

(({ Thrust bearing (D) Radial bearing
Aol Gulm Grigwied Gufln

(E) Answer not known
sllenL Agflweidens

In a bearing, what are the two main types of races?
Cuilii-é apsflwiwrer @raw@® Craev ereses? ’

(A) Single and double (B) Small and big

@benn wHmID @7 en SPwg whmbd Quilug
(Qf{ Inner and outer (D) Upper and lower

2 & whmb Geuafl ‘ Cuié» wHmb S

(E) Answer not known
clen Qsflwaelcreney

What are the common material used for solid bearing housing?

A Guim-ér  Housing eemiupe &B oy  2Consssrd
swumil&stiuREpg ?

(A) Plastic and rubber (Eﬁast Iron
Qerravigd wHHID FUUF eumiLSlpiby

(C) Ceramic (D) Glass
Cermls . HERTERIITg.

(E) Answer not known
e Qgflweildana
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191. What does "TPM' stand for?
'TPM' e aferés@Qwairer?

(P/ Total Productive Maintenance

Qe yrou ey QuullenCiarev

(B) Total Productive Management
Qe yr@Lsigen GnGargl et

(C) Total Predictive Maintenance
Qured GlflgSigeu QoulenGlarav

(D) Total Productive Machinery
Qe yrlidgeu Qe

(E) Answer not known
silenL Qgflwaildene

192. Name the knot which is used to secure rope on small pipe or ring.
fflu el oieg eueerwiiseller sl LweL@GL Crrl apuéfler Quuwir

GTETEHT 2

(A) Bowline knot (B) Square knot
A6l pig b FHIT PaEa

(C) Slip knot - (f Double hitch knot
Bed (Py&a GrieL Asnpey apyés

(E) Answer not known
eflen Agfwsiicrena
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193. Which type of lubrication system is used in an oil engine cylinder?

Thg eues 2. W el e @argdan Al isaller LuaLRHDE 2

(A) Force feed method (B) Gravity feed method
elleng oar’ L (panm LI 2l L (peny

(G( Splash method (D) Sight feed method
Qzefliy apenp LMTenel a1 L (Lpenm

(E) Answer not known
efler Gsflweldenew

194. Which one of the following i is not used as grouting material?

- 195.

<‘£I€QSSGGOTL.GU£DQJG]T Tl epebTm) a;@l_tq.rm Qummer 2,5 uwmu@gguu@mﬁmmm?

(A) Cement concrete (B) Sulphur
Qe srerdlifi gL

(C) Lead o (@ Tin
AT I 657

(E) Answer not known
aflen Qgflweildena

Which one of the following types of knots is used for shortening a
rope without cutting?

gm Grmueu QeaulLmod oiger Bargeng GoD&sl LwaU{L Bl aes
65 ?

(A)‘ Square knot ‘ (B) Slip knot
eE&muT Bl Goadll B

(C) Bowline knot ‘ (ngheep shank knot
Querenavei BT &1 Qagmis prl

(E) Answer not known
dlen Qgflweildwena
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196. A triped is a device, which consists of
Wwésred eruld srgand AupBlBaEDd srosehar cramamtisms

(A) Oneleg (B) Two legs

(I Srg L6 @ yeT(H Sreds(@EnHLebr
((}( Three legs (D) Four legs

OGN &ITED G (GTH LG0T BITEH (S SHMGOS@GHL 65

(E) Answer not known
eflerL Qgfwelldvena

197. The "vial" of spirit level is on . _
7F WL LGHe eflwud erapid LD @s6n Bg HanESIILL I (HEEL

(A Cast iron base (B) Mild steel base
euUTiTLIL @(HLOY Big.LILITED Qe 6To@ SilgLILTSLD

(C) Wrought iron base : (D) High carbon steel base -
Cgaflmby g liLmsLd 2 UIT STTLIGHT 6Too@ lgLiLITED

(E) Answer not known
cflen Qaflwaldbene

198. Levelling bolts are used for
@shars Leoeuadn Curdr Riser Lweru@Earner

(A) Supporting the load of the machine
. Guwadlar GaraL. sLGUITT gk Gelgd
(13( Adjusting height of the machine
GQuadlenr enamenl. (2 WFb) 2 gevigi Gaiigd
(C) Maintaining rigidity of the machine
Quedlafian fi_ssereanns@,
(D) Reducing the noise of machine
Quipdlrsdlen sLips@ss Gopss
(E) Answer not known
ellen GAgflwaidens
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199. Most common type of cutting fluid used in almost all the machining
operation is

Quepburener  Goedler g uGrayasErse Gurgeurs LLETLESSLILEDL
Sl SolIEHWIL UENS

(A) Water (B) Land oil
QUL LT mest(h ereirl e
(CY Soluble oil (D) Compressed air
ST WESlg U TR0 Tl  Bl(pSss HTHN

(E) Answer not known
eflen GAgfweildane

200. Best example for gravity feed lubrication is
yellriiiy sar’ L (fgreilliy »H90) erufiCsanhastar fpbe o sryeamb

(A) Grease gun (B) Ring lubrication
' fifev saw ] Ak rifGaagper
(C) Splash lubrication (Wick feed lubrication
evlfemeiy griifGaasen eild 90 @riflCaager

(E) Answer not known
aflenL Qgflweldens
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